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- Revision questions

Sketch the region defined by y > -I)-c- in the first

(c) Hence sketch the graph of y = i——t—?—

41. If g(x) = 4x — 9, find x when g(x) = 19. 47.
: 8x2 —' 2x + 3 whenx > 1 quadrant.
42, f(x) = x when—-1 < x < 1}. f2-2 >0
| 9 when x < -1 BIRO = 12 41 ifr<0)
Find f(4) — f(-2) + f(-1). find the values of A(3) + A(—4) — h(0).
. . s
43. Find the domzfm and range of y = x 12. 49. Sketch y = m
44, Sketch the region x < 5, 2x + 3y < 6. 1
. 45. Find the domain and range of x2 + y2 = 12L 50. Sketch y = 3. ‘
46.If T(x) = 5 — x*and Q(x) = 8x - 9,
find the value of T(—1) — Q(2).
-Challenge questions
51. Find the domain of f(x) = -3 1_ T 56. Sketch the region y > x—i—s- in the first quadrant.
52. Sketch the region y = 2x — 5,y < x% 57.Sketchy = |x| + 2x — L.
_f2x -1 forx >0 58. Find the d in of =_.1_._
53. /() = { x+ 3 forx < 0}’ nc the domam o1 m
find f(a?). o 3Wx
. . 59. Find lim s—.
54. Find the value(s) of x for which f(x) = 0 when = 2x + 1
f(x) = x* — 3x — 1 (give exact answers). -1 forx> I
55.(a)Showthatx+2=I+ 3 . 60.Iff(x)={x+1 for -l <x<1
x -1 x -1 3 forx < -1
(b) Find the domain and range of y = i i ? sketch the function.
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41.x =7
42. f(4) = 8(4)% — 2(4) + 3
= 123 (since 4 > 1)
f=2)=9 (since =2 < —1)
f=1) = -1 (since —1 < —1 < 1)

So
F@ -f(-2) + f(=1) =123 - 9 + (-1) =113.
43. Domain: all real x
Range:y = —12
44. Sketch x = 5 (broken).
Region lies to the left of the line.
Sketch 2x + 3y = 6 (broken).
Choose a point on one side of the line, say (0, 0):
2x + 3y < 6
0+ 0<6 (true).
So the region is on this side of the line.

-

45. Domain: ~11 < x < 11
Range: 11 = y = 11

46.TCD =5—-(-1)=5-1=4
02 =82 -9=1
SoT(-1) - Q) = 4 - 7 = -3.

47.

48.h(3) =2 — (3 = —25 (since 3 > 0)
h(=4) = (4 + 1 = 17 (since —4 < ©
hO0)=02+1=1 (since 0 < 0).

So
h(3) + h(-=4) — h(0) = =25 + 17 - 1= -9.

49.
A
3 y = 9 - 2
T ! aanied
-3 3
50.
x|-3|-2t-1]-4jo| 4|5 |1]2]3
1 1 1 1
yl il L4 =941 ]a]ls
I— : —— X
-3 -2
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ChaHenge questions | 6.y = ——— has domain: all real x # 5, and
51. Domain: all real numbers, x # + 1. x+35 range: all real y # 0.
52. Sketch y = 2x — 5 (unbroken). | .
Choose a point on or‘}ze side 5of the line, say (0,0): ' |
y = 2x —
0=0-35 (true).
So the region is on this side of the line.
Sketch y = x? (broken).
(Cohoo;se a point on the outside of the curve, say
C y < x*
-3 <0 (true).
So the region is on the outside of the curve.
2x - 5
i Choose 2, 1) titute i
| oose, say (2, 1): substitute m y > 55
i 1
1> 333 (true)
57 oA y=lxj+2x-1
51 .
21
14
53. f(a®) = 2a* — 1 (since a® = 0) , -
X
S4.x2 —3x—1=0 . 23
a=105b=-3¢c=~1 ;
_=b £ B — dac
X =
2a i
_ (=3 + V(=3P - 4D
2(1)
_3+v9+4 |
; |
_ 3+ V13 ‘
2 |
55. (b) Domain: all x, x # 1 |
Range: ally,y # 1 ‘
©
|
fx)=x+1 for-1<x<1
b7 JRe
2'/
3 2 41 T 2 3%
7
d -1
7
7
il =27






